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The figures in the margin indicate
Sfull marks for the questions.

Answer either in English or in Assamese.

1. Answer any ten of the following questions
as directed: 1x10=10

AU weTe At eMICIIRT =91 R webr e
Tes forit 8 |

() Central excise duty is levied and
collected by

(Fill in the blank with
appropriate word/words)

(P SRR I 7 41 SR TR
== (&oRe *7eq fF 31Z 979 79)

Contd.




(i) The Assam VAT Act, 2003 came into
effect from 1* day of May, 2005.
(State whether the statement is true or false)

S VAT 34, 2003 ISR ¥ =¥, 2005
571 “ifZe (v o= o1 |

(Sf&cor ©% ¥ 9% Gy <)

(iii) One of the objectives of the Customs Act,
1962 is to protect the domestic industries.
(State whether the statement is true or false)

IO N2A, 19623 96! Ty 1 @R s
THINRTS T 11 |

(Cf&ehr &7 7 9195 Gy 3)

(iv) GST has removed the effect of taxes.
(Fill in the blank with
appropriate word/words)

GST-9 31 ASIT AR FRCZ
(Cog& %3709 AT 72 959 F1)

(v)] A person without GST registration can
collect tax.
(State whether the statement is true or false)

GSTI TS AfGTH 7L 9T JTS 79 RAR
FRANR  (CfS0 9% (7 997 CEmy 79)

(vi) Indirect taxes are imposed on
and services.

(Fill in the blank with
appropriate word/words)

2TAF 9 F (AN 82i<® Y [T |
(Co3e 13T N 512 939 F)
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(viij Customs duty is levied on the
manufacture of excisable goods in India.
(State whether the statement is true or false)
TITOIHS HRHF TIN5 ITES TLATAR 8IS
BT 9 41 I |

(SIGCo! &% (F ST GF F91)

(viii) area means the area of a custom
station.

(Fill in the blank with
appropriate word/words)
e O (RGB! BB (B T |
(o3& 13773 e 312 939 31)

(ix) GST was introduced in India with effect
from
(Fill in the blank with appropriate word/
words)

SITeIHS I 7R GST oG I A |
(Goge 19T <ife 312 97 391)

(x) GSTIN is a unique 10-digit number.
(State whether the statement is true or false)
GSTIN % @b vZ NRYYE SN 779 |

(Cfeehr &% 1 SoT Oy 391)

(xij Customs duty 'is levied by the
Government of India.

(State whether the statement is true or false)
T T SIS HIFRA 2 41 T+ =W |
(Cfeehr ©% 7 o7 Oy 391)

(xii) France was the first country to
implement GST in the year
(Fill in the blank with the appropriate year)
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I T AT (7 AT 57 2T GST
TR e |
(Gorge 71T AT 5% 979 F)
(xiit) The name of the first Chairperson of the
GST Council was

(Fill in the blank with

appropriate word/words)

GST i3 2em et ai =i
(Co& *17703 et 912 943 1)

(xiv) GST network is a non-government

organization.
(State whether the statement is true or false)

GST network 95 (REITIN! ST 27 |
(& 0% (7 SoF CrE 31)
(xv) GST has been projected as ‘One Nation,
One Tax’. g

(State whether the statement is true or false)
GST ‘G3 3, G I, NS Zpitet avss

ey (BT o7 @ w5 Gard 39
2. Answer any five of the folloWing questions :
2x5= 10

©eTS Al eITIIRT <IN Rizpiear <iioor e Bes ol 8
() What is input tax credit ?
Input tax credit F=x?
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(i) Explain the meaning of ‘aggregate
turnover’ under GST laws.
GST Sz S o FHYS R 3 L it 341 |

(i) What is dual GST model ?
t7s GST =fE &2 »

(iv) What is the meaning of ‘territorial

' waters’ under Customs Law ?
PITY WS AGTS TAST sirI =L @ e

(v) Explain the term ‘manufacturer’ under
Central Excise Act.
@G HIDIN! 2 SIS TAMS A1
IRG B

(vt) What is 'countervailing duty? under the
Customs Act ?
IV W2 TGS Ffo73 o7 =2

(vi) What is the meaning of indirect tax ?
LiSi RS S ACRASEE:

(viii) Mention any two salient features of GST
network ?
GST network-3 R 7! 24 (%) S
41|

3. Answer any four questions ! S5x4=20

fRizeiea Sifor o] Tes forat 8

(i) Explain the meaning of ﬁ)aggage’ under
Customs Law.
JIBY W2 TLTS ‘baggage’I S I I |

| l
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(i) Briefly explain any five advantages of
registration under GST laws. .

GST WizA] WS A&7 I [ewer 2oy

SR T I 4 |
(i) Briefly explain any five salient features
¢ ofGST.
GST-R RICHIeaT “A15br &4 (IR ALTHCoA Wi
=91

(iv)] Explain the procedure of registration
under the Central Excise Act.
FH Y TR i3 SFTS «ifgaa =99 ﬁ*ﬁf‘

IR 90
(v) State any five objectives of enactment

of the Customs Act, 1962.
IRV N2, 1962 R FIR Rprear 50!
S ol |

(viy Briefly explain any five features of
indirect taxes. i}
AT DI RCPIeT #io0! AR SIS FIGT 1 |
(vii) Write a short note on the GST Councif
and its constitution.
GST {37 TR 2R A5F 82T 53 (G foradi |
(viii) Write a brief note on the threshold limits
for registration under GST.

GST=S 9w +if§T"e AT 2T AR 82179
59 (oI fevall |
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4. Answer any four of the following questions:
10%x4=40
©eTS WAl CAIRT 21 Rerear 519619 Te] &t 8
(a) Explain the eligibility and conditions for
availing input tax credit under GST.
5+5=10
GST-¥ 9Iflw® input tax credit-3 R«
THATSI9 T AR (FSTS! TR FSTTZ A I |
(b) Write a comprehensive note on the
persons who are not liable for
registration under the Goods and Service
Tax Act.
R 11 gfe 39 o mawwﬁaawém sffer
TR AR IT T (OSTEIRR ST IR (BI ot |
(c) Describe the history of indirect taxes in India.
SITSIHS SIEF FI] 2O 941 711 |
(d) Write a note on the concepts and general
principles of Value Added Tax.
T6T RAGTS 399 4R % A4 IS
Qoo (Bl {111 |
(e) Briefly describe the history of Central
Excise Law in India.

IS (% 1T RN SN2 2L 5 391 3 |
(f) Write brief notes on the following terms
under Central Excise Act : 5+5=10
(TG RIS 2T TS ©eTo Tl =T
= 5y (Gt feral ¢
(a) Manufacture
T
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(b) . Place of removal

AN F
(g) Explain the provisions of the Customs
Act, 1962 regarding grant of exemptions
from custom duty.

T W&, 1962 QO FIBY $FI [«
PSRl I RT3 |

(h) Briefly explain the following terms under
the Customs Act, 1962 : 9+5=10

1B WA, 1962-F TH© &oTo [l AT
B0 IR FY ¢
(a) Safeguard Duty
TH 8T
~ (b) Anti-Dumping Duty *
Gf5-wifor wm
() Briefly describe the history of Goods and
Services Tax in India.

RO IE WIF GRI I oL 5T I
9|

() Explain the meaning of composition
scheme under GST. What are the

conditions for opting composition
scheme ? S9+5=10

GSTS SEHS SREANEIE QS L G
N | MA@ Se oAfT 119
SRR B B

4 (Sem-6/CBCS) HC 2 (ITL)/G - 8 10000



